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QUESTION NO: 1

Which of the following services can be handled by the MP1 processing board? 

A. CES E1 

B. IMAE1 

C. ML-PPP 

D. Ethernet 

ANSWER: A B D 

QUESTION NO: 2

If an error occurs in the SDH network, the service signal recovered after the signal is decapsulated must have an error. 

A. True 

B. False 

ANSWER: B 

QUESTION NO: 3

When deploying ring network protection in the PTN7900 network, which items are wrong? 

A. Ring network protection and LSP APS protection can be configured at the same time 

B. The tunnel that carries the service needs to be bound to the ring network, so that the ring network can protect the service 

C. The east-west interface bandwidth of the ring network must be consistent, otherwise the ring network cannot be deployed 

D. When configuring a ring network, the east-west interfaces of the ring network can be on the same board 

ANSWER: C D 

QUESTION NO: 4

When PTN carries LTE services, it forwards packets based on MPLS label switching. In the MPLS label, which identification 
field can be used as a PTN to distinguish the labelat the bottom of the stack? 

A. Label ID
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B. BS 

C. EXP 

D. TTL 

ANSWER: D 

QUESTION NO: 5

Which step is not included in the NE upgrade process of PTN equipment? 

A. Upgrade Feasibility Check 

B. Load the packagec. to distribute 

C. Backup after activation 

ANSWER: C 

QUESTION NO: 6

The U2000 network management supports a variety of external interfaces. Which of the following interfaces can be used 
when connecting with the network management equipment of other manufacturers? 

A. CORBA 

B. MML 

C. QX 

D. TL1 

ANSWER: A 

QUESTION NO: 7

In Huawei's PTN7900 LTE solution, which of the following protection methods are used in the L2VPN part? 

A. IP/VPN FRR 

B. MC-PW APS 

C. MC-LAG 

D. VPN FRR 

ANSWER: B C 
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QUESTION NO: 8

Which of the following descriptions about the use of detection packets in the PTN LTE scheme BFD is correct? 

A. CCM message 

B. CV message 

C. FFD message 

D. Lightweight HELLO message 

ANSWER: D 

QUESTION NO: 9

Which of the following PTN7900-32 boards supports 10DGE ports? 

A. TPA1EXL1 

B. mA1EH1 

C. TPA1EXL2 

D. TPA1EX4 

ANSWER: B 

QUESTION NO: 10

Using Huawei PTN7900 to carry the L3VPN service, there is no need to plan VPN peers between the two devices 

A. Between L2/L3PTN and L3PTN at the core layer 

B. Active and standby L2/L3PTN equipment rooms 

C. Between different L2/L3PTN and L3PTN sink node pairs 

D. Between L3PTNs at the core layer 

ANSWER: B C 

QUESTION NO: 11

When configuring electrical layer crossing, what are the rules for time slot configuration? 

A. For the convenience of management and maintenance, it is recommended to set the time slot cutting mode to automatic 
mode 
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B. For each board, the same time slot in the same direction cannot be used by multiple services at the same time 

C. For the same service, the time slots occupied by the receiving turbulence and the transmitting turbulence in one direction 
must be the same 

D. After changing the service type, there is no need to reset the service time slot 

ANSWER: A B C 

QUESTION NO: 12

What are the values of each wavelength in the composite signal that the spectrum analyzer is mainly used for? 

A. Optical power 

B. Signal to Noise Ratio 

C. Center wavelength 

D. Dispersion value 

ANSWER: A B C 

QUESTION NO: 13

When configuring SxCS board for OSN3500. Which of the following is the access capacity of a fully configured subrack?

A. 35G 

B. 58.75G 

C. 80G 

D. 155G 

ANSWER: D 

QUESTION NO: 14

Which of the following options is not the reason for the R-LOS alarm? 

A. Broken fiber 

B. Excessive line attenuation 

C. The laser at the transceiver end is damaged 

D. Frame failure 
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ANSWER: D 

QUESTION NO: 15

In the WDM transmission system, the main factors that affect the unevenness of the power balance of each channel do not 
include the following? 

A. Inhomogeneity of insertion loss of each channel of the combiner/demultiplexer 

B. The main channel adjustable optical attenuator setting is unreasonable 

C. EDFA gain unevenness 

D. The cable attenuation is too high 

ANSWER: A B C 
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